fiinf Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
2, 1 1 3 1, 3,0 1 2 5
=3 37G+3) =3 7373
I 1 3 2 1
vopo Ll L 2+ Y - +4 - - =
( ) 6(2 > (2+3) ~ 3 3
3 1 2 1 3 1 | )
3— )P +-+Z 422 = Y4+ IYX 4 (= + =Y =
G- 3P+3+3 P+ x5+G+3)
1, 3 3 3 2, 3 1, 1 3 1,
GP-2% 3+ G2 G-GH* 3+ G5
2 1, 13 1 1 3 1 3,
Y- (2+ )= — )X —+(=+Z) =
(-9 5G+7 GP-3x3+G+3)
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fiinf Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
2, 1. 1 p 1487 3, 1 2, 35 3
TRy (D4R = T v V- A A G
(-)*5+ ( 1800 B3 73734 =01)=08)
2 3. 11 1387 187 3. 2 1 1652 2
C+IP-(=+ _)— = Q+Iy -+ -—-=—""=0_
577 762727 1200 1200 5 75 375 75
3.1 2 161 1, 3 1 1 2, 3161 1361
3-dpy iz p 0051 P+ D)X 4 (= + o) = =1
G-z +3%3 16 16 (537G 37 %0~ z00
1, 3.3 3 2, 3 01, 1 3 1, 683
R T v S D L IVPyxc (D —ip =
(3 =3)*57G~3) GG+ G735 = koo
2 1, 1.3 967 2, 1.3 1 3, 109
SV (2 2 Y - Yy x 4 (o + P =2
(373773373 D= 1300’ G =5+ G 7 =14
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